## 1.4b Higher order equations

Wednesday, January 13, 2021 2:38 AM

$$\begin{array}{c} \begin{array}{c} \begin{array}{c} \begin{array}{c} \left( p - \lambda \right) \\ \left( p - \lambda \right) \\ \left( p - \lambda \right) \\ x = 0 \end{array} \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ \left( p - \lambda \right) \\ x = 0 \end{array} \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ \left( p - \lambda \right) \\ x = 0 \end{array} \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ \left( p - \lambda \right) \\ x = 0 \end{array} \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ \begin{array}{c} \left( p - \lambda \right) \\ x = 0 \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ \end{array} \\ \begin{array}{c} \left( p - \lambda \right) \\ \end{array}$$

Principle of Superposition Principle of Superposition  $x = x_h + x_p = c_1 (-1)^t + c_2 \cos(\frac{\pi}{2}t) + c_3 \sin(\frac{\pi}{2}t) + t - \frac{3}{2}$ Def. 1.7. The zeros lin, ly of the ohar eon and the -ta, dta =0 are often called eigenvalues. If for some i and for all j,  $|\lambda_{i}| \geq |\lambda_{j}|$ , then  $d_{i}$  is a dominant eigenvalue or,  $|\lambda_i| > |\lambda_j|$ , then  $\lambda_i$  is the strictly dom. eigenvalue. Asymptotically, the behavior of a typical solution is controlled by the dominant eigenvalue, e.g. if di is a dominant eigenvalue, and I/i/<1, then solutions converge to 0.